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(i) ¥4 YL.9T H diT @US 37, ‘T gl ‘g & | §edd GUS H wiw qvT & | (Bl & gva

& IOV gIfo7d. Ul @ue @ FH § HH g1 9T v 817 =@ied |

(ii) FedE 997 & SAfban 3 39 3T H Jfba & |
(iii) TF [¥7 & Q4 9T FT 3T AR TF qrey faar s |

(i)  This question paper has three sections ‘A’, ‘B’ and ‘C’. Every section has four

questions, attempt any six questions. At least two questions should be from
every section.

(ii) The maximum marks of every question is mentioned at the end of the question.
(iii) The part of same question must be answered together.

@vE - 3/ SECTION - A
ﬁ@ﬁ%mwaﬁ?ﬁﬁ%
IS T STTRTA &l o Hed 3T it |
et =t Tmemed -
()  SYSH FFeERo
(i) wiganigar =l afaret
(iii) @HA AHF

State the objectives of Accounting.

(=) NL{L (=}

Distinguish between Capital and Revenue Expenditures.
Explain the following :
(i) Accrual Coﬁcept.
(i1)) Convention of Conservatism.
(iii) Accounting Standards
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(3) 3, 9 T W Uh ®H H GIEIRR & ST AT-81 ol AR 3 : 2 : 1 & U | faeiiia s
WY |31 |, 2012 I 37 B H 3T Fagr FH=ifwd o

3T | G &1 ey fergr 31 | 2012 &t
T Z wetaat z
LEIRCIGE qa 50,000
3T 60,000 TR 40,000
g 40,000 1,00,000 | R 40,000
7] @I TR’R 30,000
I 9,000 ST : 3T
El 3,000 12,000 | 0T &q WEEH (-) 2,000 | 28,000
[SREILS 50,000 | & ST YSiT @ 10,000
e afufasy 20,000 | ATH-g1 @rar 30,000
<7 faux 18,000 | THS 2,000
2,00,000 2,00,000
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% 27,000 SGA g4 | IGett W T 3000 FF g4 | THIR Qo7 A & &9 H T 45,000 T
% o Weud g2 | MR S99 W & AW A d g ®H @ gEdel H agel @,

WRITRI & ISt @I 7 Aehg @l R Hifeid |

frfafaa w e feuforat fafas : 4
() =] gt

(i) oI B & HRU

37e ST S YR IS T ST SEish GHIEN ey | 3

A, B and C were partners in a firm who were sharing profits and losses in the ratio
of 3 : 2 : 1 respectively. Following was the Balance Sheet of their firm as on

31* March, 2012.

‘Balance Sheet of A B C Firm as on 31° March, 2012

Liabilities 4 Assets 3
Capital Accounts : Buildings 50,000
A 60,000 Machinery 40,000
B 40,000 1,00,000 | Stock 40,000
Current Accounts : Debtors 30,000
A 9,000 Less : Provision for
B 3,000 12,000 Bad Debts (-) 2,000 | 28,000
Creditors 50,000 | Capital Account of C 10,000
Bank Overdraft 20,000 | Profit & Loss Account 30,000
Bills Payable 18,000 | Cash 2,000
2,00,000 2,00,000

On 1% April, 2012 C became insolvent and the firm was dissolved.

Buildings and Machinery were sold for ¥ 60,000 and ¥ 25,000 respectively, while
Debtors and Stock realised T 20,000 and T 27,000 respectively. ¥ 3,000 were spent
on realisation. Creditors agreed to accept T 45,000 in full settlement.

Prepare Realisation Account, Partners’ Capital Account and Cash Account in
the books of the firm by applying the Rule of Garner V. Murray.
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(b)  Write short notes on the following :
(i)  Current Assets
(i) Causes of Depreciation
(c) Define Outstanding Expenses and explain their accounting adjustments.

3. @3 | SHEd 2012 Y U ffiRs 3 T 10 T 30,000 HEAT S 7 3 2 wfq Sty difwEE 9w
Tt Friee T | sl o 3 Tl s e f weR e o 10
33 3R W
35 e W (NHaE H gimferd X gd)

T2 U9 AR W

32 fgdig wd stfm G W

FEHY ST 50,000 ST I g 1 5,000 AT I SEABR HT fear 7 3R AT A
T ST e R T | e 4wt A w39 St df i afsfed 1000
3Tt B Stget 9T gt o ot e e @ w1 s o erie wiftr we S Are i
T A B | STHRA @ |

St o S W % SR HwE A s O % s b ever & fern sk s 9
600 379N i T 9 UfeT 319 Yuice & &7 § qAIH T fEar |

FIOY Y TR H IuGR Al & Ty e afafet w1

@ Frefotad o d@eu § greed 4
(i) 3Tl &1 D e
(1) ﬁﬁﬂ?ﬁ‘lﬁ‘i?ﬁ

@) S Ue A @ A - @R % e 3R i | 3

(@ On 1% January, 2012 X Ltd. made a public issue of 30,000 Equity Shares of ¥ 10
each at a premium of ¥ 2 per share. The amount due on shares were payable as
follows :

T 3 on application

¥ 5 on allotment (including premium)

T 2 on first call

% 2 on second and final call
The company received 50,000 applications. 5,000 applications were rejected and a
pro-rata allotment was made on remaining applications. The company made all the
calls and all moneys were received except on 1,000 shares allotted to Mr. P. Mr. P
failed to pay allotment money and both the calls.

In accordance with the provisions of Articles of Association, the company
forfeited the shares of Mr. P and reissued 600 shares out of them @ X 9 per share
as fully paid.

Record the Journal Entries for the above transactions in the books of the
company.

(b) Explain the following in brief :

(1) Intrinsic Value of Shares.
(ii) Capital Employed.

(c) Distinguish between Receipt and Payment Account and Income & Expenditure

Account.
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| Uehel TAHCT T TR o Ted 3T it |

37HEIUT & ILYIT I AT Hited |
Ueh 37 {0 HHH o AT vl ol Jui hifstd |
YAV Ue odq= & He << Hitstd | | 5
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Explain the objectives of Audit.
Describe the essential elements of a good Audit Programme.
Distinguish between Vouching and Verification.

QU -
SECTION - B

Th AT & GAME i Uishar ! diere fae=n i |
<3N WeY & fqg=T &l 9ol St |

NL{LO\ (=)}

Briefly discuss the procedure of Incorporation of a company.
Describe the ‘Doctrine of Indoor Management’.
Distinguish between Sole Proprietorship and Partnership.

eI ThEdl & T GAlSH & W@ 3L¥al &l 9 Hifsd |

AT AT FagT=T i G&T | Trensd |

faarententor &t v sifsrd qen sfel R s9e fatiy % HRoT Iy |
Describe the key objectives of combination among business units.

Briefly explain the “Theory of Comparative Cost.”
Define ‘Rationalisation’ and give reasons for its opposition by labourers.

N({'_O\ N

Tt e & ufesT s bt fHeet 1 Ge § 9uiF Sifs | 6
‘QWer 1 ¥ ? YR H ST Fa@E & Heior & gy H ggent fge & faden
i | 6
T T W 3ueh! 4 3w ¥ 2 55
Briefly state the role of EXIM Bank in the promotion of exports.

What is ‘IRDA’ ? Discuss its role with reference to privatization of insurance

business in India.
What do you mean by Organization Structure ?

I [ied & UHRT Ud Faedl ot Telq J fae=qr Hifvd | 6
IUHISAT SSTR & WUSTHIUT & TR §agd | 6
“3{qETE gRT Ve~ W U fewoh fafea | 5

Discuss in brief the rights and duties of a Company Secretary.
State the bases of segmentation of Consumer Markets.
Write a note on ‘Management by Exception’.
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SECTION ‘C’
(Basic Knowledge of Computer Science)

9. (3 Frefafad ®t gt B, x F 79 & o 1+2=3
i) (23.6))p= ),
(i) (F8E6.39),, = (%) ‘
@) 3 % e 1 I X gU Frefettad st @ feaed St | 2
- —20),, AR+ (26),, :
@ TH 16 x SWWW(ROM)W%HWEﬁWWﬁWﬁWﬁWﬁH
AT %— 1
=(11100010),
=(01010111),
S VISRl B RS met (evreTHRY) H e WY |
@ Frafataa wfa deror giwat o arefae it areafe st § ariigd o 2
(i) @S e
(i) W IW
(i) ¥ HART
(iv) e
(v ™
(vi) T g=A
1T 3R STHAYH § 31 e Hid | T & TR H et HiRA | 3
FH S C7 I H U i3 SR S o u i fefed St o el T o % e
Foreroit o et el ¥ 4
™ (Name)
T . (Roll No)
ure fawat & 3i (Marks)
Yol 31 (Total)
(A) Solve the following for x —
® (23~6)10 . (x)2
(i) (F8E6.39);c=(*);
(B) Perform the following additions using 2’s complement
—(20),, and + (26),
(C) A 16 x 8 ROM stores following words in its first two memory locations —
=(11100010),
R, =(01010111),
Express the above stored contents in hexadecimal notation.
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Classify the following memory storage devices into Primary and Secondary groups :
(1) Hard Disk ‘
(i1) Flash ROM
(111) Cache Memory
(iv) CD ROM
(v) RAM
(vi) Pen Drive
Differentiate between data and information. Write and explain the types of
information.
Write a program in ‘C’ to create a file to store the following records of students :
Name
Roll No
Marks of Five Subjects
Total Marks

AT Hifed i F0 T WA, (HTML) % Ue¥H, $269 & e 3R Jedeh a-sfasy &
2 o A o § et € | 5
T UAUA, (HTML) &g & ford St o e a9 957 0 Uk Al 361 ird ol € |
S ST o ST N SHN 4, AEE 300 R HAE 300 & | AT 3HA W ol e &
1% ITRIGUS ik Yl ST St dedrge 7% fawet § gordt ¢ | 5
S1eEd | fagelt Shoft sm R € 2 I8 ST i Hewqol gidl § 2 G Inuar ’E 2 5
Discuss, how the HTML performance, database issues and network bandwidth
issues are involved in web solution development ?

Write the simple HTML code to display the logo image on a web page that has a
border size 4, width 300 and height 300. When the logo image is clicked it links to
the website of Uttarakhand Public Service Commission which is opened in new
window.

What is a foreign key constraint ? Why are such constraints important ? What is
referential integrity ?

3 H STHHRT T o F=feiad gl w faar #X 3+3

fomm (faum =, faum am, 33 =t |

AT (RHERT H, famm )

FHART (HHER! . FHART A4, )

HEYqeh SISTOTd <l JART Yk =1 U9t ot ford

() S HHAE! 1 HHEAR TR AT B T ad Tehdd ¢ |

(i) 37 faH Areten! &l A1 1 B ST faH= T 4000 HieT i 30 T 3T 3T T &,
AAfep ot ST faum it SgM & ot warfora &7 € |

HHGY I ‘C’ | H Uk R (function) for@ it fF n il & e foraas &t oM

FIAT 8 | 5

T 22t & faate iR fequig 98T wide & sy Hi fad | 4
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(A) Consider the following relations containing airflight information :
Flights (FlightNo, from, to)
Aircraft (aid, aname, cruising-range)
Certified (eid, aid)
Employees (eid, ename, salary)
Write the following queries in relational algebra :
(i)  Find the eids of employees who make the highest salary.

(i) Find the name of pilots who can operate planes with a range greater than
4000 miles but are not certified on any Boeing aircraft.

(B) Write a function in ‘C’ language to compute the standard deviation of n numbers.
(C) Write the contents of HTTP request and response message formats.

12. (3D ﬁﬁﬁmmﬁﬁaﬁ?ﬁmaﬁmwaﬁaﬁﬁlm%ﬁmmw
TR IUREE ¥, 1 AR e $9 A8 GaRrE H g0 & & fod w91
Wmaﬁaisﬁaﬁwﬁmﬁuawﬁwm%%ﬁmwm

i TR | forr st =fed 2 T
G)) Wﬁ C’Wﬁ@m%@?ﬁﬁ?anayﬁﬂ%aﬁﬁzmﬁ | Array % a9 Th

array of pointers ¥ 20T (point) fp s € 1 6
@) MIME &1 Gl WiH T & 2 S9eT i S Wi fetfiad | 2

(A) Describe the structure of a relational database management system. If the operating
system of the computer, on which the relational database management system is
installed, is upgraded to support some new functions on Operating System files,
which layer(s) of the RDBMS would you have to rewrite to take advantage of
these new functions.

(B) Write a program in ‘C’ to print array elements being pointed to by an array of
pointers.

(C) What does the MIME stand for ? Write its functions and usages.

ARM-03 7



